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L IT both P
(1, 2,3, 4)
of the farm
real rooty 7

ad g belong 1o ihe wot
' |h;m how many equations
PEF gt =0 will have

(a) 12
(h) 10

w

li.“ 6

2. What is the value of
1-2+4+3-4+5 . i [ ¢t

«51

(b) ss
(c) 110
d 111

3. If A, B and C are subsets of & given sel,
then which one of the following:
relations is mot correct ? ]

«JU{AM} =AUB
(b) ANAUB) =4
(c) (ANB)UC = (4UC)NBUC)
(@) (AUB)NC = (ANC)U(BNC)

4. If the sum of first » terms of a series is
(n + 12), then what is its third term ?

(@), 1
(b) 2
{c) 3
@ 4
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S What s the value of k for ‘which

the sum of the Squares of the roots
OF 27 - 20k — 2y = (k4 1) = 0 is -
mum ¥

¥

3
(c) 2

(d) 2

6. If the roots of the equation
alb—e)xt + ble—a)x+ cla - b)=0

are equal, then which one of the
following is correct 7

(@) a, b and ¢ are in AP
(b) a, b and ¢ are in GP
(€) a, b and ¢ are in HP

d a, b and ¢ do not follow any

regular pattern

7. 1f Jx’—!‘:—xﬁ-ll > x*—3x+2, then
which one of the following is correct 7
2 x=lorx=2
(b) I1=sx=2

«1-::):-::?.

(d) xis any real value except 3 and 4

8. A geometric progression (GP) consists
of 200 terms. If the sum of odd terms
of the GP is m, and the sum of even
terms of the GP is n, then what is its
commeoen ratio !

(d) n+(min)
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S I n et 4 contiuny 3 elemietits g
: h) =2% -ﬂl
another st & conaing 6 alementa, then b

what' i3 |he minimum  number of (b --Ii'\'rj
elamenin iy (AUBY ean have ”

o33 (¢) 146
a

2+ 6
N v

1L If x+a+b4e=0, hen what is the

fe) 8 value of
x+a b e
@ 9 a x+h e |}
e b Xte

10 What is the numiber of diagonals of an "y

octagon ? «
(B) (a+b+cp
e} a+ b +2

(d) a+b+c—2

L =1
14. 1f A—[_I

o ‘ A 2445
8 the value of the determinant M_.nm_m
() midmt[t;r matrix

\ e I, I..
sacicdgin

(d) equal to —4

l]' then the expression

15. Let

07
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16, Under which one of the  fallowing

aonditicng will

the gudratic ogualion
Ctmr+ 1=

always buve resl roats
(8} 23 s =
(b)) V3 mm? < g

w;—u
) =3

17, What s the value of

.‘-I--..ﬁ |9 l—w'ri W
2 Hih=e=r ¥

(a) 1

(b} =i

2
(d) -2

18, If a amd A are the roots of
_rhl-.ﬁ-l-u,lhmnﬁuﬂg

%}-ﬁﬁ’) equal 10 7

(OF
b) 6
{c) 4
y 2

18. In a school, 50% students play cricket
and 40% play foothall If 10% of
students play both the pames, then what
per cent of students play neither cricket
football 7

WA=z 0552 and = (¥ v iz
i prime mimber), then wiwh iy ANK
equul o7

(a) &
) {1}
(2]
) {1,2]
21 01 x =144, then what isthe value of
S b ot el B
(n) &i-
() ~Gi+3
~61 -3
(d) 6i+3

22. What is the value of

:+—I—-?

2+ :

T
(a) 21
y-\!‘iﬂk]
{c) 3
(@) 4

23, 1f P(n, )= 2520 and C(n, r) =21, then
what ig the value of C(n + 1,74 1) 7

(8) 7
(b) 14

{d) 56
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(#) Both A8 and BA exist

(h) Neither AB nor BA exists

ydﬂ exisis but B4 does not exist

(d) AR does not exist but BA exists
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projection of

RO =4 45+ Tk ?

Which of the
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of o trinngle ABC are "
Se=+/3:-/2, then what T
e of angle A 7
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mdnmn&m“wh. ﬁmmu{tblhlhwhs is the

") N ‘gecond  degree  polynomial function
gf?ﬁ o oncion i =an(C] ) whee 70)25: fi-)- 10 and
= e N USSR .ﬂl} = (G
(a) 522255

(b) 3=*—2x-5

(d) 2m?

77. How much angle does the tangent at P
make with y-axis 7

(a) tan~'m?

() cor!(1+m?)

()

(@ sec” Vlmt
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g, What is the
*wmm e %Mmhm,

Ll “de )
an s
Sl e [

(a) PR ¥c

1-n

(b) m +e

N A n+l
(U+mx)™
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rﬁ'wk%#l* 1 equal 10 7

(= 0

M

() 2

@ 4

86. What is the period of the function

="

> .
(a) m
£
(c) 4=
(d) 8
87. What is the period of the function
hix) 7

(a) =

4
{bJ—s-

sz_n

3
d) ==
“2
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Directions for the following three (03)
dtemy :

Read the following informution and answet
the three items that follow :

Lt f(x) = 5 + 2~ § and g(x) = 5% + 30
91. What are the roots of the equation
g f]=07
(@ 1,1
% o
(€ 1,1
@ 0.1
1. /{g(#)} s & polynomial of degree 3.
2. glgt)] isa polynomial of degree 2.
Which of the aboye statements is/ are

h 3,49 correet
& (a) 1 only
(©) (=3, =2)
{h) 2 only
(&) A= (c) Both | and 2

wNeﬁhm 1 nor 2

93, If h(x) = 5f(x) — xg(x), then what is the
derivative of hix) ?

(a) —40
w -20

(c) —10

(d) 0
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(d) 7=q2,3 A=, 2 u 3,

101 A coin s biggeg 50 that
up thrice ag likely ag taily
independeny losses. .
the pmbubifity of i
tmls ? ng at HOSE two
(a) 0-16

(b) 0:48

102, A bag cantains 20 Books out of which
3 are defective, If 3 of the books ure
lected at random and

103, The median of the observations 22, 24,
33, 37, x+1, &+ 3, 46, 47, 57. 58'in
Accending order is 42 What are the
values of Sth and 6ith ohservations

respectively 7
(2) 42, 45
V-H. 43

(c) 43, 45

(d) 40, 40

104. Arithmetic mean of 10 observations je
60 and sum of squares: of deviationg

from 50 is 5000, What is the standard
deviation of the observations 7

fa) 20

(d) 24-7p

105. Ip'and g are the roats of the equation
=30+ 221 =0, what is the valye of
pJ-i g]?

(=) 7010

w?ltﬂ

{e) 7210

(d) 7240
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106, For the variables x ang y, gy,
regression lines are Gx+y =30 E
3+ 29=25. What are the yauee

¥, y and 7 respectively 7
{I) ‘_;“it %, —ﬂ:.'j'

® 3 2 0s
o, *

n a frequency table
._lﬂ. 15, 20, 25, 30,

ﬁmus of the

109. If a coin is tossed till the first head
appears, then what will be the sample
space 7
(a) {H)

(b) {TH}
(¢) {T, HT, HHT, HHHT, ..cooccovcriies )

110. Consider the following discrete fre-
qumﬁydimibtlﬂnn

z |tz 3] 4]8|6|7|3

7|3 |15 |as|57|50|36(25 |9

What is the value of median of the
distribution ?
4
(b) 5
(c) &
d 7
111. Two dice are thrown simultaneously.
What is the probability that ﬂ:ufmof

prime number ?
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]l_z. If5ofa C.ﬂmpanr'a 10 dﬂu

3.

X%

114, C

o o Mmoet emission standaydy ang

(G-

Thﬂmm¢3nuhminnbux.'0misa
two-headed coip: another is a fair caip:
and third is biased coin that Comes u;:
heads 75% of time. When one of the
three coins is selected a random and
flipped, it shows heads What is the
probability that it was the two-headed
comn 7

(a)

W | kS

(b)

D) | —

2w

@

A ﬁlfbl-lhv-fing slatements :

1. If A and B are mutually exclusive
events, then it is possible that
Fd)=F(B)=06.

2. If A and B are any two events such

that P(A|B) = 1. then P(B]A4 ) = 1.

Which of the above statements is/are
correct 7

(a) I only

WZ only

(e) Both 1 and 2

(d) Meither | nor 2

115, If a fair die is rolled 4 times, then what

116.

is the probability that there are exactly
2 sixes 7

{1[‘. _5-
A7

Mean of 100 observations is 50 and
standard deviation 15 10. If 5 15 added
to each observation, then what will
be the mew mean and new standard
deviation respectively 7

(&) 50, 10

(b) 50, 15

“ 55, 10

(d) 55,15
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119. A car travels first 60 km al & speed
of 3y km/hr and travels next 60 km at
2v km/hr. What is the average speed of
oo ity i

(a) 2-5vlam/hr

{cj_ | 2:2v km/hr

@ 2ivimir

120. Iﬁﬁmm@gp& of 150 students in a
cer i Elmﬁﬁﬂhmm%:ht
’bi’ W is 70kg and that of girls is
! Sskg.Whntmthamhﬂofheyzf
- and girls respectively in the class 7

(a) 75 and 75

™
Snciac, * gl

(c) 70 and 80

(d) 100 and 50
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